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import sys
sys.path.append("statlib")
from xtest import Wilks_lambda

Wilks_lambda(dat, verbose=True
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dat® = [[1, 2.9, 161.7, 120.8],
[1, 2.3, 114.8, 85.2],
[1, 2.0, 128.4, 92. 1,
[1, 3.2, 149.2, 97.3],
[1, 2.7, 126.0, 81.1],
[1, 4.4, 133.8, 107.6],
[1, 4.1, 161.3, 114.01],
[1, 2.1, 111.5, 77.31,
[2, 4.8, 198.7, 172.9],
[2, 3.6, 199.3, 157.9],




[2, 2.0, 188.4, 152.7],
[2, 4.9, 183.6, 164.2],
[2, 3.9, 173.5, 172.2]7,
[2, 4.4, 184.9, 163.2]]

import pandas as pd

datl = pd.DataFrame(dat®, columns=["g", "x1", "x2",
dat = datl[[llxlll’ lllel’ "X3"’ Ilgll]]

import sys
sys.path.append("statlib")

from xtest import Wilks_lambda

a = Wilks_lambda(dat)
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F = 33.805, dfl =3, df2 =10, p value < 0.0001




